L7 AP R T & ACEAACE A A 4R £

N ?%T%;EFR?& 106 # $T3£ £3114, 800 = - %]‘V{E%& s
L:£12,988 4 =% > Lt AT B4 T £

106# % & FTEIRIF £ 47

#ie (g1 = 151
Fllawhoc i ik (A | 10
4 peeadery | T
(LR
wig iy | 20
Ty 4
g |37
BARER
by — 804
B (gl g == 312
FlFawhoc P Bk (240 AE) = 220
ok |1
s s |20
AR/ A B = 201
g = 150
R/ 45 [ 134
- § iy 4 |4
AmdEpe £ P40
e 4,122

0 1000 2000 3000 4000 5000 6000 7000
ok =

6,/668




106 3 & 03k & FORLE = Heh 4155 % 4o

106# ¥ & ok il A 17

B ,
o
we S BT RY |,
e Bk T 1206
e 10795
A 8841

ERLE |10
CORFEHE | AT
iy | 16
AED: 3% # | 43
ABDZ 2% T # m 201
CPR Jm 244
KED® % | 9
GrErAT |8
LA AL
f 4 H R

EE N
;ﬁ'—y’;‘a if; Ind

58 8]

3864
4370

FEME
LMA ' TLMA

BVM

E R S
w ¥

# 3

%

§oFre g

T rFRE e g

0 2000 4000 6000 8000 10000 12000 * ¥




